
Soustraire des fractions mixtes négatives (F)

Nom: Date: Note:

Calculez chaque différence.

1. (−512) −
2
3 =

2. (−513) −
1
2 =

3. (−256) − (−445) =

4. (−545) − 123 =

5. (−235) − 523 =

6. (−412) − 223 =

7. (−412) − (−513) =

8. (−212) −
1
5 =

9. (−412) − (−123) =

10. (−414) − 425 =
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Soustraire des fractions mixtes négatives (F) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−512) −
2
3 = (−112 ) −

2
3 = (−336 ) −

4
6 = (−376 ) = (−616)

2. (−513) −
1
2 = (−163 ) −

1
2 = (−326 ) −

3
6 = (−356 ) = (−556)

3. (−256) − (−445) = (−176 ) − (−245 ) = (−8530) − (−14430 ) = 59
30 = 12930

4. (−545) − 123 = (−295 ) −
5
3 = (−8715) −

25
15 = (−11215 ) = (−7 715)

5. (−235) − 523 = (−135 ) −
17
3 = (−3915) −

85
15 = (−12415 ) = (−8 415)

6. (−412) − 223 = (−92) −
8
3 = (−276 ) −

16
6 = (−436 ) = (−716)

7. (−412) − (−513) = (−92) − (−163 ) = (−276 ) − (−326 ) = 5
6

8. (−212) −
1
5 = (−52) −

1
5 = (−2510) −

2
10 = (−2710) = (−2 710)

9. (−412) − (−123) = (−92) − (−53) = (−276 ) − (−106 ) = (−176 ) = (−256)

10. (−414) − 425 = (−174 ) −
22
5 = (−8520) −

88
20 = (−17320 ) = (−81320)
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